
𝑡𝑎𝑛0 =

𝑡𝑎𝑛15 =

𝑡𝑎𝑛30 =

𝑡𝑎𝑛45 =

𝑡𝑎𝑛60 =

𝑡𝑎𝑛75 =

𝑡𝑎𝑛90 =

𝑡𝑎𝑛120 =

𝑐𝑜𝑠0 =

𝑐𝑜𝑠15 =

𝑐𝑜𝑠30 =

𝑐𝑜𝑠45 =

𝑐𝑜𝑠60 =

𝑐𝑜𝑠75 =

𝑐𝑜𝑠90 =

𝑐𝑜𝑠120 =

𝑠𝑖𝑛0 =

𝑠𝑖𝑛15 =

𝑠𝑖𝑛30 =

𝑠𝑖𝑛45 =

𝑠𝑖𝑛60 =

𝑠𝑖𝑛75 =

𝑠𝑖𝑛90 =

𝑠𝑖𝑛120 =

Plug into your Calculator to 3 Decimals, Draw a Triangle, State Meaning.
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30

55

35

30

60

8

12

Solve for Opposite. 

10

1

   45o

8

11.54

Solve for Opposite. 

Solve for Adjacent.
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30

35

22

30

60

7

Solve for Adjacent.

8

99

   45o

10

12

100

Solve for Hypotenuse.

Solve for Hypotenuse.
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𝜃

𝜃

𝜃

𝜃

𝜃

𝜃

𝜃

𝜃

Solve for 𝜃 (𝑡ℎ𝑒 𝑎𝑛𝑔𝑙𝑒)

5

10

6

12

5

8

17

21

29

12

35

𝑏

𝑎





3
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